

The Degasperis–Procesi equation with self-consistent sources

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2008 J. Phys. A: Math. Theor. 41 355203

(<http://iopscience.iop.org/1751-8121/41/35/355203>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.150

The article was downloaded on 03/06/2010 at 07:08

Please note that [terms and conditions apply](#).

The Degasperis–Procesi equation with self-consistent sources

Yehui Huang¹, Yunbo Zeng¹ and Orlando Ragnisco^{2,3}

¹ Department of Mathematical Sciences, Tsinghua University, Beijing 100084, People's Republic of China

² Department of Physics, Università Roma TRE, Rome 00146, Italy

³ I.N.F.N., sezione of Roma TRE, Rome 00146, Italy

E-mail: huangyh@mails.tsinghua.edu.cn, yzeng@math.tsinghua.edu.cn
and ragnisco@fis.uniroma3.it

Received 19 February 2008, in final form 1 July 2008

Published 22 July 2008

Online at stacks.iop.org/JPhysA/41/355203

Abstract

The Degasperis–Procesi equation with self-consistent sources (DPESCS) is derived. The Lax representation of the DPESCS is presented. The conservation laws for DPESCS are constructed. The peakon solution of DPESCS is obtained by using the method of variation of constants.

PACS number: 02.30.IK

1. Introduction

Soliton equations with self-consistent sources (SESCS) have attracted much attention in recent years. They are important integrable models in many fields of physics, such as hydrodynamics, state physics, plasma physics, etc [1–18]. For example, the KdV equation with self-consistent sources describes the interaction of long and short capillary-gravity waves [5]. The KP equation with self-consistent sources describes the interaction of a long-wave with a short-wave packet propagating on the x - y plane at some angle to each other [2]. The nonlinear Schrödinger equation with self-consistent sources represents the nonlinear interaction of an electrostatic high-frequency wave with the ion acoustic wave in a two-component homogeneous plasma [6]. The constrained flows of soliton hierarchy may be regarded as the stationary systems of the corresponding integrable hierarchy with self-consistent sources [15–18]. Since the Lax representation for constrained flows can be deduced from the adjoint representation of the Lax representation of soliton equation [14], there is a natural way of finding the zero-curvature representation for SESCO [15–18]. From this observation, the soliton equations with self-consistent sources may be viewed as integrable generalizations of the original soliton equations. A systematic way to construct the soliton equations with self-consistent sources is proposed in [15–18].

The Camassa–Holm equation, which was implicitly contained in the class of multihamiltonian systems introduced by Fuchssteiner and Fokas in [20] and explicitly derived as a shallow water wave equation by Camassa and Holm in [21], has the form

$$u_t + 2wu_x - u_{xxt} + 3uu_x = 2u_x u_{xx} + uu_{xxx}. \quad (1.1)$$

Since the works of Camassa and Holm, this equation has become a well-known example of integrable systems and has been studied from many different points of view.

It is a natural question to ask whether there are other third-order dispersive PDEs sharing the integrability properties of the Camassa–Holm equation. An answer has been given in [19] where the method of asymptotic integrability was applied to a family of third-order dispersive PDE conservation laws

$$u_t + c_0 u_x + \gamma u_{xxx} - \alpha^2 u_{xxt} = (c_1 u^2 + c_2 u_x^2 + c_3 uu_{xx})_x, \quad (1.2)$$

where α , c_0 , c_1 , c_2 , c_3 and γ are some arbitrary constants. Only three equations in this family satisfy the asymptotic integrability conditions. They are the KdV equation, the Camassa–Holm equation and the following new equation:

$$u_t + u_x + 6uu_x + u_{xxx} - \alpha^2 (u_{xxt} + \frac{9}{2}u_x u_{xx} + \frac{3}{2}uu_{xxx}) = 0. \quad (1.3)$$

By a coordinate transformation, this new equation could be written as [22]

$$u_t - u_{xxt} + 4uu_x = 3u_x u_{xx} + uu_{xxx}. \quad (1.4)$$

This encourages us to study the family of equations [22]

$$u_t - u_{xxt} + (b + 1)uu_x = bu_x u_{xx} + uu_{xxx}. \quad (1.5)$$

All the equations in this family have peakon solutions of the form

$$u = \sum_{j=1}^N p_j(t) e^{-|x - q_j(t)|}, \quad (1.6)$$

where p_j and q_j satisfy the dynamical system

$$\dot{p}_j = -(b - 1) \frac{\partial G_N}{\partial q_j}, \quad \dot{q}_j = \frac{\partial G_N}{\partial p_j}, \quad (1.7)$$

the generating function G_N reading

$$G_N = \frac{1}{2} \sum_{j,k=1}^N p_j p_k e^{-|q_j - q_k|}. \quad (1.8)$$

Let $m = u - u_{xx}$. Equation (1.4) could be written as

$$m_t + m_x u + 3m u_x = 0, \quad (1.9)$$

which is called the Degasperis–Procesi (DP) equation. It is shown in [23] that both the Camassa–Holm and the DP equation are derived as members of a one-parameter family of asymptotic shallow water approximations to the Euler equations. They describe the unidirectional propagation of nonlinear shallow-water waves. The DP equation has a third-order Lax pair and a bi-Hamiltonian structure. The existence of its global solutions is considered in [24]. A new integrable hierarchy was extended from the DP equation in [25]. In [26], the N-peakon solutions of the DP equation have been derived. The N-soliton solutions of the DP equation are obtained in [27]. Interesting results on the solutions of this equation have also been obtained in [28–32].

The soliton equation with self-consistent sources was first studied by Melnikov in [1–3]. The problem of finding soliton solutions or other specific solutions for equations with self-consistent sources has been considered in the past by several authors [4–18]. The present paper falls in that line of research, aiming at deriving the Degasperis–Procesi equation with self-consistent sources (DPESCS) and at finding its special explicit solutions.

We first construct the high-order constrained flow of the DP equation. Based on it we establish the DPESCS by regarding the constrained flow of DP equation as the stationary equation of DPESCS in the same way as in [15–18]. The Lax pair of the DPESCS is obtained, which means that the DPESCS is Lax integrable. In [33, 34], we pointed out that soliton equations with self-consistent sources can be regarded as soliton equations with non-homogeneous terms, and accordingly proposed to look for explicit solutions by using the methods of variation of constants. Applying this technique to DPESCS we have been able to find its peakon solutions and peakon–antipeakon solutions.

This paper is organized as follows. In section 2, we extend the DP equation including self-consistent sources and construct its Lax representation. In section 3 we derive its conservation laws. In section 4, the peakon and the peakon–antipeakon solutions are obtained. In section 5, we mention some open problems.

2. The DPESCS and its Lax pair

2.1. The DPESCS

First we construct the high-order constrained flows of the DP equation, then establish the DPESCS and describe how to derive the Lax representation for the DPESCS.

It is known that the Lax pair for the DP equation (1.9) is [22]

$$\psi_{xxx} = \psi_x - m\lambda\psi, \tag{2.1a}$$

$$\psi_t = -\frac{1}{\lambda}\psi_{xx} - u\psi_x + \left(u_x + \frac{2}{3\lambda}\right)\psi. \tag{2.1b}$$

Consider the following equations obtained from the spectral problem and its formal adjoint problem for n distinct real λ_j :

$$q_{j,xxx} = q_{j,x} - m\lambda_j q_j, \quad j = 1, \dots, n, \tag{2.2a}$$

$$r_{j,xxx} = r_{j,x} + m\lambda_j r_j, \quad j = 1, \dots, n. \tag{2.2b}$$

It is not difficult to find that

$$\frac{\delta\lambda_j}{\delta m} = -\lambda_j q_j r_j, \quad j = 1, \dots, n. \tag{2.3}$$

It is known that the DP equation possesses a bi-hamiltonian structure [22], namely:

$$m_t = B_1 \frac{\delta H_1}{\delta m} = B_0 \frac{\delta H_0}{\delta m}, \tag{2.4}$$

where

$$B_0 = m^{2/3} \partial_x m^{1/3} (\partial_x - \partial_x^3)^{-1} m^{1/3} \partial_x m^{2/3}, \tag{2.5}$$

$$B_1 = \partial_x (1 - \partial_x^2) (4 - \partial_x^2), \tag{2.6}$$

$$H_0 = -\frac{2}{9} \int m \, dx, \tag{2.7}$$

$$H_1 = -\frac{1}{6} \int u^3 dx. \tag{2.8}$$

The high-order constrained flow of the DP equation is obtained from (2.2) for n distinct λ_j , requiring that the ‘potential’ m obeys the following constraint,

$$B_1 \left(\frac{\delta H_1}{\delta m} - \sum_{j=1}^n \alpha_j \frac{\delta \lambda_j}{\delta m} \right) = 0, \tag{2.9a}$$

$$q_{j,xxx} = q_{j,x} - m\lambda_j q_j, \tag{2.9b}$$

$$r_{j,xxx} = r_{j,x} + m\lambda_j r_j \quad j = 1, \dots, n, \tag{2.9c}$$

where $\alpha_j, j = 1, \dots, n$, are arbitrary constants.

According to the approach proposed in [15–18], the DPESCS consists of the following equation:

$$m_t = B_1 \left(\frac{\delta H_1}{\delta m} - \sum_{j=1}^n \alpha_j \frac{\delta \lambda_j}{\delta m} \right)$$

and equations (2.2), which by using (2.3) and taking $\alpha_j = -\frac{1}{6}$ leads to the DPESCS

$$m_t = -um_x - 3u_x m - \frac{1}{6} \sum_{j=1}^n \partial(1 - \partial^2)(4 - \partial^2)(\lambda_j q_j r_j), \tag{2.10a}$$

$$q_{j,xxx} = q_{j,x} - m\lambda_j q_j, \tag{2.10b}$$

$$r_{j,xxx} = r_{j,x} + m\lambda_j r_j, \quad j = 1, \dots, n. \tag{2.10c}$$

2.2. The Lax representation of the DPESCS

Comparing the DPESCS to the DP equation, we may assume that the Lax presentation of the DPESCS has the form

$$\psi_{xxx} = \psi_x - m\lambda\psi, \tag{2.11a}$$

$$\psi_t = -\frac{1}{\lambda} \psi_{xx} - u\psi_x + \left(u_x + \frac{2}{3\lambda} \right) \psi + a\psi + b\psi_x + c\psi_{xx}, \tag{2.11b}$$

where a, b and c are some functions of q_j and r_j to be determined. Requiring that under (2.10b) and (2.10c) the compatibility condition of (2.11a) and (2.11b), namely $\psi_{xxx t} = \psi_{t xxx}$, leads to DPESCS (2.10a) enables us to find that

$$\begin{aligned} & a_x - a_{xxx} + 3b_x m\lambda + bm_x\lambda + 3c_{xx} m\lambda + 3c_x m_x\lambda + cm_{xx}\lambda \\ & = \lambda \sum_{j=1}^n \alpha_j \partial(1 - \partial^2)(4 - \partial^2)(q_j r_j), \end{aligned} \tag{2.12a}$$

$$-3a_{xx} - b_{xxx} - 2b_x - 3c_{xx} + 3c_x m\lambda + 2cm_x\lambda = 0, \tag{2.12b}$$

$$3a_x + 3b_{xx} + 2c_x + c_{xxx} = 0. \tag{2.12c}$$

From (2.10b) and (2.10c) we obtain two identities

$$\partial(1 - \partial^2)(4 - \partial^2)(q_j r_j) = -3\lambda_j(m_x W(q_j, r_j) + 3m W(q_j, r_j)_x), \quad (2.13a)$$

$$W(q_j, r_j)_{xxx} - W(q_j, r_j)_x = \lambda_j(2m_x q_j r_j + 3m(q_j r_j)_x), \quad (2.13b)$$

where $W(q_j, r_j) = q_j r_{j,x} - q_{j,x} r_j$ is the usual Wronskian determinant.

From (2.12c) we obtain that

$$3a + 3b_x + 2c + c_{xx} = 0. \quad (2.14)$$

Then (2.14) together with (2.12b) leads to

$$a_{xxx} - a_x = \frac{1}{6}\partial(1 - \partial^2)(4 - \partial^2)c + \left(cm_x \lambda + \frac{3}{2}c_x m \lambda \right)_x, \quad (2.15a)$$

$$2 \left(\left(b + \frac{1}{2}c_x \right)_x - \left(b + \frac{1}{2}c_x \right)_{xxx} \right) = 2cm_x \lambda + 3c_x m \lambda. \quad (2.15b)$$

With the relations above we can rewrite (2.12a) as

$$\begin{aligned} & -\frac{1}{6}\partial(1 - \partial^2)(4 - \partial^2)c + \lambda \left(3m \left(b + \frac{1}{2}c_x \right)_x + m_x \left(b + \frac{1}{2}c_x \right) \right) \\ & = \lambda \sum_{j=1}^n \alpha_j \partial(1 - \partial^2)(4 - \partial^2)(q_j r_j). \end{aligned} \quad (2.16)$$

Here we suggest that

$$c = \sum_{j=1}^n A_j q_j r_j, \quad (2.17a)$$

$$b + \frac{1}{2}c_x = \sum_{j=1}^n B_j W(q_j, r_j), \quad (2.17b)$$

where $A_j, B_j, j = 1, \dots, n$, are some undetermined constants.

Finally with some calculations to determine A_j and B_j we solve (2.12) for a, b, c yielding

$$a = \sum_{j=1}^n \frac{1}{6} \frac{\lambda \lambda_j^2}{\lambda_j^2 - \lambda^2} (3\lambda(q_j r_{j,xx} - q_{j,xx} r_j) - 4\lambda_j q_j r_j - 2\lambda_j (q_j r_j)_{xx}), \quad (2.18a)$$

$$b = \sum_{j=1}^n -\frac{1}{2} \frac{\lambda \lambda_j^2}{\lambda_j^2 - \lambda^2} (\lambda(q_j r_{j,x} - q_{j,x} r_j) + \lambda_j (q_j r_j)_x), \quad (2.18b)$$

$$c = \sum_{j=1}^n \frac{\lambda \lambda_j^3}{\lambda_j^2 - \lambda^2} q_j r_j. \quad (2.18c)$$

In this way, we obtain the Lax pair for (2.10a) under (2.10b) and (2.10c) as follows,

$$\psi_{xxx} = \psi_x - m\lambda\psi, \quad (2.19a)$$

$$\begin{aligned}
 \psi_t = & -\frac{1}{\lambda} \psi_{xx} - u \psi_x + \left(u_x + \frac{2}{3\lambda} \right) \psi \\
 & + \left(\sum_{j=1}^n \frac{1}{6} \frac{\lambda \lambda_j^2}{\lambda_j^2 - \lambda^2} (3\lambda(q_j r_{j,xx} - q_{j,xx} r_j) - 4\lambda_j q_j r_j - 2\lambda_j (q_j r_j)_{xx}) \right) \psi \\
 & + \left(\sum_{j=1}^n -\frac{1}{2} \frac{\lambda \lambda_j^2}{\lambda_j^2 - \lambda^2} (\lambda(q_j r_{j,x} - q_{j,x} r_j) + \lambda_j (q_j r_j)_x) \right) \psi_x \\
 & + \left(\sum_{j=1}^n \frac{\lambda \lambda_j^3}{\lambda_j^2 - \lambda^2} q_j r_j \right) \psi_{xx}, \tag{2.19b}
 \end{aligned}$$

which means that the DPESCS is Lax integrable.

3. The infinite set of conservation laws for the DPESCS

With the help of the Lax representation of the DPESCS, we could find the conservation laws for the DPESCS by a well-known method. First we assume that m, u and its derivatives tend to 0 when $|x| \rightarrow \infty$, and assume that q_j, r_j and its derivatives tend to 0 when $x \rightarrow -\infty$. Set

$$\Gamma = \frac{\psi_x}{\psi}, \tag{3.1}$$

then the identity

$$\frac{\partial}{\partial t} \left(\frac{\partial \ln \psi}{\partial x} \right) = \frac{\partial}{\partial x} \left(\frac{\partial \ln \psi}{\partial t} \right)$$

together with (2.11) implies that DPESCS has the following conservation law:

$$\frac{\partial}{\partial t} (\Gamma) = \frac{\partial}{\partial x} \left(\frac{\psi_t}{\psi} \right) = \frac{\partial}{\partial x} (u_x + a - (u+b)\Gamma - \left(\frac{1}{\lambda} + c \right) (\Gamma_x + \Gamma^2)), \tag{3.2}$$

where a, b and c are given by (2.14). Here we define that $\Omega = u_x + a - (u+b)\Gamma - \left(\frac{1}{\lambda} + c \right) (\Gamma_x + \Gamma^2)$. Using (2.11a) gives rise to

$$\Gamma - \Gamma_{xx} = m\lambda + 3\Gamma\Gamma_x + \Gamma^3. \tag{3.3}$$

We can have two kinds of expansions for Γ in the power series of λ . The first expansion is in positive powers of λ [22],

$$\Gamma = \sum_{k=0}^{\infty} h_k \lambda^{k+1}, \tag{3.4a}$$

$$\Omega = \sum_{k=0}^{\infty} g_k \lambda^{k+1}. \tag{3.4b}$$

We note that the odd densities h_{2k+1} are exact derivatives. The first two densities are $h_0 = u, h_2 = u^3$, which yield the conserved quantities H_0 and H_1 in (2.7) and (2.8). The following densities are nonlocal because that would be an inverse of the operator $(1 - \partial_x^2)$ in the sequence.

The second expansion could be

$$\Gamma = \sum_{k=0}^{\infty} \mu_k \lambda^{\frac{1-k}{3}}, \tag{3.5a}$$

$$\Omega = \sum_{k=0}^{\infty} \omega_k \lambda^{\frac{1-k}{3}}. \tag{3.5b}$$

With the relations of (3.2) and (3.3), we can obtain the infinite densities and fluxes of the conservation laws. For brevity, we omit the recursion relations here.

After some calculations, we can find that μ_k with odd subscripts are derivatives of some functions. So we define $H_{-s} = \int \mu_{2s-2} dx$, which are taken as the conserved quantities. We could find the first few conserved quantities given by μ_0, μ_2 as follows:

$$H_{-1} = \int m^{1/3} dx, \tag{3.6a}$$

$$H_{-2} = \frac{1}{27} \int (m_x^2 m^{-7/3} + 9m^{-1/3}) dx. \tag{3.6b}$$

The corresponding flux of the conservation laws are

$$G_{-1} = m^{1/3} \left(-u + \frac{1}{2} \sum_{j=1}^n \lambda_j^2 (q_j r_{j,x} - q_{j,x} r_j) \right), \tag{3.7a}$$

$$G_{-2} = \frac{1}{2} u_x \sum_{j=1}^n \lambda_j^2 (q_j r_{j,xx} - q_{j,xx} r_j) - \frac{1}{3} m_x m^{-1} \left(-u + \frac{1}{2} \sum_{j=1}^n \lambda_j^2 (q_j r_{j,x} - q_{j,x} r_j) \right). \tag{3.7b}$$

As the space part of the Lax pair is the same as that of DP equation, the densities of the conservation laws are also the same. Of course, as the time part is different, the fluxes will also be different.

4. Solution of the DPESCS

4.1. One peakon solution of the DPESCS

As mentioned in the introduction, we will construct peakon solutions for DPESCS by the method of variation of constants.

The DP equation has peakon solutions [22]. The one peakon is

$$u = c e^{-|x-ct+\alpha|}, \tag{4.1}$$

where α is an arbitrary constant. The corresponding eigenfunction of (4.1) is

$$q = \beta [\text{sgn}(x - ct + \alpha) (e^{-|x-ct+\alpha|} - 1) - 1], \tag{4.2a}$$

$$r = \beta [\text{sgn}(x - ct + \alpha) (e^{-|x-ct+\alpha|} - 1) + 1], \tag{4.2b}$$

where β is arbitrary constant as well.

Taking α and β in (4.1) and (4.2) to be time-dependent $\alpha(t)$ and $\beta(t)$ and requiring that

$$u = c e^{-|x-ct+\alpha(t)|}, \tag{4.3a}$$

$$q = \beta(t)[\operatorname{sgn}(x - ct + \alpha(t)) (e^{-|x-ct+\alpha(t)|} - 1) - 1], \tag{4.3b}$$

$$r = \beta(t)[\operatorname{sgn}(x - ct + \alpha(t)) (e^{-|x-ct+\alpha(t)|} - 1) + 1] \tag{4.3c}$$

satisfies the DPESCS (2.10) for $n = 1$. We find that $c = \frac{1}{\lambda_1}$, $\alpha(t)$ can be an arbitrary function of t and $\beta(t) = \sqrt{\alpha'(t)c}$. So we have the one peakon solution for (2.9) with $n = 1$, $\lambda_1 = \lambda = \frac{1}{c}$

$$u = c e^{-|x-ct+\alpha(t)|}, \tag{4.4a}$$

$$q = c\sqrt{\alpha'(t)}[\operatorname{sgn}(x - ct + \alpha(t)) (e^{-|x-ct+\alpha(t)|} - 1) - 1], \tag{4.4b}$$

$$r = c\sqrt{\alpha'(t)}[\operatorname{sgn}(x - ct + \alpha(t)) (e^{-|x-ct+\alpha(t)|} - 1) + 1]. \tag{4.4c}$$

The one peakon of the DPESCS also has a cusp at its peak, located at $x = ct - \alpha(t)$. We note that, while for the one peakon solution of the DP equation travels with speed c and has a cusp at its peak of height c , for the DPESCS, the cusp is still at its peak of height c , but the speed of the wave is no longer a constant.

4.2. The peakon–antipeakon solution of the DPESCS

The DP equation has peakon–antipeakon solutions [22]

$$u = \frac{-\operatorname{sgn}(t)c}{1 - e^{-2c|t|}} (e^{-|x+c|t|+\alpha} - e^{-|x-c|t|+\alpha}), \tag{4.5}$$

where α is an arbitrary constant. The corresponding eigenfunctions of (4.5) is

$$q = \beta \sqrt{\frac{c}{(1 - e^{-2c|t|})}} (\operatorname{sgn}(x + c|t| + \alpha) (e^{-|x+c|t|+\alpha} - 1) - \operatorname{sgn}(x - c|t| + \alpha) (e^{-|x-c|t|+\alpha} - 1)), \tag{4.6a}$$

$$r = \beta \sqrt{\frac{c}{(1 - e^{-2c|t|})}} (\operatorname{sgn}(x + c|t| + \alpha) (e^{-|x+c|t|+\alpha} - 1) + \operatorname{sgn}(x - c|t| + \alpha) (e^{-|x-c|t|+\alpha} - 1)). \tag{4.6b}$$

Taking α and β in (4.5) and (4.6) to be time-dependent $\alpha(t)$ and $\beta(t)$, and with the method of the variation of constants, the peakon–antipeakon solution of the DPESCS with $n = 1$ and $\lambda_1 = \frac{1}{c}$ is

$$u = \frac{c}{1 - e^{-2c|t|}} (e^{-|x+c|t|+\alpha(t)} - e^{-|x-c|t|+\alpha(t)}), \tag{4.7a}$$

$$q = c \sqrt{\frac{-\operatorname{sgn}(t)\alpha'(t)}{(1 - e^{-2c|t|})}} (\operatorname{sgn}(x + c|t| + \alpha(t)) (e^{-|x+c|t|+\alpha(t)} - 1) - \operatorname{sgn}(x - c|t| + \alpha(t)) (e^{-|x-c|t|+\alpha(t)} - 1)), \tag{4.7b}$$

$$r = c \sqrt{\frac{-\operatorname{sgn}(t)\alpha'(t)}{(1 - e^{-2c|t|})}} (\operatorname{sgn}(x + c|t| + \alpha(t)) (e^{-|x+c|t|+\alpha(t)} - 1) + \operatorname{sgn}(x - c|t| + \alpha(t)) (e^{-|x-c|t|+\alpha(t)} - 1)), \tag{4.7c}$$

where $\alpha(t)$ is an arbitrary function of t .

5. Conclusion

As a concluding remark, we want to stress that the construction of N-peakon solutions for the DPESCS is still an open problem, as well as for the case of the Camassa–Holm equation with self-consistent sources. In fact, in the case of the Camassa–Holm equation and DP equation a reciprocal transformation is used, but so far we have not been able to extend it in the case of those equations with self-consistent sources.

Acknowledgments

This work was supported by the National Basic Research Program of China (973 program) (2007CB814800) and the National Science Foundation of China (grant no 10601028). Yehui Huang would like to thank ‘Antenna Lazio’ for having a one-year fellowship to stay at the Physics department of Roma Tre University.

References

- [1] Mel’nikov V K 1989 *Commun. Math. Phys.* **120** 451
- [2] Mel’nikov V K 1989 *Commun. Math. Phys.* **126** 201
- [3] Mel’nikov V K 1990 *Inverse Problems* **6** 233
- [4] Kaup D J 1987 *Phys. Rev. Lett.* **59** 2063
- [5] Leon J and Latifi A 1990 *J. Phys. A: Math. Gen.* **23** 1385
- [6] Claude C, Latifi A and Leon J 1991 *J. Math. Phys.* **32** 3321
- [7] Nakazawa M, Yomada E and Kubota H 1991 *Phys. Rev. Lett.* **66** 2625
- [8] Doktorov E V and Shchesnovich V S 1995 *Phys. Lett. A* **207** 153
- [9] Shchesnovich V S and Doktorov E V 1996 *Phys. Lett. A* **213** 23
- [10] Mel’nikov V K 1990 *J. Math. Phys.* **31** 1106
- [11] Leon J 1990 *Phys. Lett. A* **144** 444
- [12] Mel’nikov V K 1988 *Phys. Lett. A* **133** 493
- [13] Zeng Y B 1991 *Phys. Lett. A* **160** 541
- [14] Zeng Y B and Li Y S 1993 *J. Phys. A: Math. Gen.* **26** L273
- [15] Zeng Y B 1994 *Physica D* **73** 171
- [16] Zeng Y B, Ma W X and Lin R L 2000 *J. Math. Phys.* **41** 5453
- [17] Zeng Y B, Shao Y J and Xue W M 2003 *J. Phys. A: Math. Gen.* **36** 5035
- [18] Xiao T and Zeng Y B 2004 *J. Phys. A: Math. Gen.* **37** 7143
- [19] Degasperis A and Procesi M 1999 *Asymptotic integrability Symmetry and Perturbation Theory* ed A Degasperis and G Gaeta (Singapore: World Scientific) p 23
- [20] Fuchssteiner B and Fokas A S 1981 *Physica D* **4** 47
- [21] Camassa R and Holm D 1993 *Phys. Rev. Lett.* **71** 1661
- [22] Degasperis A, Holm D and Hone A 2002 *Theor. Math. Phys.* **133** 1463
- [23] Dullin H R, Gottwald G A and Holm D D 2003 *Fluid Dyn. Res.* **33** 7395
- [24] Yin Z Y 2004 *J. Funct. Anal.* **212** 182
- [25] Qiao Z J 2004 *Acta Appl. Math.* **83** 199
- [26] Lundmark H and Szmigielski J 2003 *Inverse Problems* **19** 1241
- [27] Matsuno Y 2005 *Inverse Problems* **21** 1553
- [28] Matsuno Y 2006 *Phys. Lett. A* **359** 451
- [29] Lundmark H 2007 *J. Nonlinear Sci.* **17** 169
- [30] Lenells J 2005 *J. Math. Anal. Appl.* **306** 72
- [31] Parkes V O and Vakhnenko E J 2004 *Chaos Solitons Fractals* **20** 1059
- [32] Guo B L and Liu Z R 2005 *Chaos Solitons Fractals* **23** 1451
- [33] Wu H X, Liu X J, Huang Y H and Zeng Y B Solving soliton equations with self-consistent sources by constant variation method (submitted)
- [34] Wu H X, Zeng Y B and Fan T Y 2008 *Inverse Problems* **24** 1